pObGEUE ¢ /675

Gk Jok N
9 = FHRN 18.1.16

€39 ” 2
(42 Hi %] RERERES —
[B#4C] VR 27 4 26 55 118
[#2H5%] ERMERE
[ X4 X34 ) FA e

REBRFEE Vavy 77—
ERT U A EFTTEHR] AR TRERKKHT-TENELS

IWE/NN—=F7 FZ T —
(REBBEFER] TRk 174 12 A 31 A
[#&iRB] TRk 184 1 A 16 B
[REEROERBREED 1
i (4)]
(2 E] g Eot

F£1 [RITSHICET 5FER]

RATEHOAH | () aX7 bFr/ mY—X

& f = — F  |3736

£ - TRERDR] 5

EBIEHEBAIFT | HAEw Y —X

AJE BT E | FOREHEXHE 4-3-17




g2 [REEFIZETDHFER]
1 [BiHE (REREE) /1]

(1) [RHEOBME]
@ [RHE (KE

(GCED)!

B A - EAN OS5

B (R&t)

K 4 X 3 4 %

FAFxz- Ty I w2 A MESH

{E AT XA A JE B 7E #

R TAREKKEITZTA 11 F1 5UEA-7 4T~

B KA XETHHK

IR AT UL AT B TE

@ [BADBE

4 ¢ A H
53 E
BB ELW
W% EER
@ [EADBHA]
BRMYF AR Bfn604 7 A 8 H
KEHFEKAL Mg =
RRH & REREFERILR
FENEA BE(EFERTEE. REBME
@ [F% LoEgEk]
= L OERK KL N A RS
kOHYHFL AL FS5AT RE KT fiE
w OBE F 5 03-5156-7737

@) [REEM]

BR—ERNZOMORNICESBREREDCEMZ B E LIcRE




() [LEREEFORAKIFEEDONR]

O [rRAEKRFEDOHK]

1EH 27 0 23 8 3TEARX

HEHTHFD2BEIRE 15

EHE2TRD23HEIRE 2 F

w7 ()

2,398

PRSI ZHEREE  (BR)

G

BRTHOMERES (BK)

H

R TR ()

I

X R A ML
H/N—FRKTUZ b

g [Q|=|»

BRIFTREERES

PR 7% BB FRRLAE SR

& RA M FE SR R AL

BE (BK)

2 | |

0 2,398

ERBGINCEIVEELZI LI
XD ERT BERFREORK

RAERESO ()
(M+N+0O—P)

Q 2,398

RABERNOK

(A+B+C+D+E+F+G+H+[+J+K+L)

Q@ [HFERFES]

FATHERRE (%)
(Rt 17 4 11 A 30 RETD)

S 45,000

LFEREHED
HEERAEE (%)
(Q/(R+8)x100)

5.33

EHRIOBEE I INT-
RESREFEE (%)

(4) [HAFFICET 2 RRBOEFEERN]

L




TRkl 7#12HA31H

AT E R AKEIT2-11-1

o o WWES-ITFU—

K £ Hi =

%&@\Tﬁwﬁéﬁﬁkkﬁb\Bﬁ@m%ﬁéﬁ#ﬁ%%ﬁ:+t%®:+ﬁ%5

ﬁnﬁwagﬁawﬁmwwm&wﬁm\ax@uﬁuaﬁ%@m&%:ﬁmzr%%%
DR ERAF ORIRICET 2R IZE

EhHEBREEROBHEOER, RIHRVHZLH
mEOE O LR, UEOEEREEOREICHT 2 —YIOHEREZRET 5,

1. ® OB OA 0O FEESTRERKHAET-11-1 WES—7F T
Bl e H

2. K # A O

KA Y REF R AR
% o RERBE
{A¥ ® &

Jay v T7r7—b

ook



